50000 ' TRACEBACK (c)1987 Tony Jordan
50010 DI:PRINT

50020 d.$=LAEZE ' Data pointer

50030 p. 3248068 ' Stack top

50040 b, 3+UAEGB ! Stack botton

50050 o, 1=PEEK(d. %+2) 4256 WPEEK(d. %+3)

50860 1F 0. 14170 THEN 50108

50878 1F PEEK(0. !)THEN L. 1<PEEK(d.5)42560PEEK(d. 34 1) 10,3
3 ELSE L.

58868 PRINT USING®01MHR";PEEK(L. 1)42S64PERK(L.

56839 PRINT" Data byte”;0.3:PRINT

50100 5, 1=UNT(PEEK (p. ) 4256 PEEK(p.3+1)-1) "Stack top
50110 IF .%(=b.3 THEN PRINT"Stack eapty”:END.
5012 c,$<PEEK(s. %) * Stack entry code & length

50130 t.$:"Stack errors™sCHR$(7) 10,470

56140 IF c.x78 THEN t.4="1No mores®

50150 IF c.3:6 THEN o. PEEK(s.3-5) THEN L8

rupted® ELSE t.4="Gosub®

58160 1F c.8+7 THEN L.

hile":o.

6

50170 IF c.%<16 OR c.3:22 THEN t.8:"For™zo.

50180 IF 0.379 THEN 56220
59199 L. 1PEEK (5. 3-0.5) 4255 4PEEK (5. 3-0.5¢1)
58289 IF L.1=0 THEN PRINT™(eybd”; :G0TO 50220

58218 PRINT USINGERINA";PEEK(L. 1) 42SGHPEEKIL. 1o1);

58228 PRINT TAB(7);t.5 ' Statesent type

E

38 5.3

.5-c.5 * Pravious stack entry
58248 IF .08 AND 5.%)=b.% THEN 56120

59250 RETURN " Could be replaced by END



